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Checkpoint.SIQ : Integrated Math 2

Answer the questions thoroughly including any necessary math or explanations.

1) Describe the transformation from the parent function f(x)=x.
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2) Describe the transformation from the parent function f(x) = x”. What is the vertex of the transformation? Vertex (0,0)
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3) Write the equation that represents the transformation from the parent function f(x)= x*. What is the vertex of the

transformation?
a) Shift 2 units right, shift 5 units down  b) Shift 3 units left, shift 4 units up c) Shift 6 units down, shift 7 units left
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5) Describe the transformation from the parent function f(x)=2".
a) m(x) =243 b) n(x) =20*? -7 c) t(x)=20" -4
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6) Describe the transformation from Function 1 to Function 2.

a) fi(x)=(x+4)"-5 ; fz(x)=l(x—1)2—3 by £;(x)=2¢ +1; £,(x)=2""-3
vertex: (-4,-5) erte: (1,~3)

¢ shifts right S units
. shifts up & units
. Stretches \03 o factor of '2!:

. Shifts riﬁhi- 3 units
. Shifts down 4 unifs,
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